(10 H~3 A)

T
10 A 11 A 12 A 1 A 2 A 3 H
Tz | PERERERR [ PAREO a0 T PERRERD AMEECEES:
g K ) o EREEGORGE ~122) |, oMM o PEBRERD S 1 ETARRD
3R 3l % pA0)E] 3+ 3 % EiL] 3| @ [FEPRIRBRENTZ bau - B BN 2EHRARO
4% 42 4B 4] Kk 4+ 4t
o o FEEEWEZ o 5 FRERD oI g o g
6 K 6l B 6 % HEREHOD 6 & 6 B IEBEEERRR 6 B 1- 28 HRHABKROG
7 % 71 B 7 % 7l + 71w 79{1-25ﬁ§q*§ﬁ5§@
o |SFERFAE (11/8~) TMEREGON 3R ~3/17)
8= 8 X 8 8 8 8 & 8 K s R 3 (~ 310)
9 B ol % 9 & FARREESEER 9 B RADAR o % SFEFIMEMBERER 9 & 1- 288X EBRD
10 B AR—YDHE 10 % 10 + 10 % 3FHRE 10| & BAES 10, & 1- 288X BHROQ
1) %k 1| 1\ 1]k |[RETA RO 1 + |BEEEEOR 1+
12, %k 12) + 12 g PFEFRTLIL 12 K | FETR O 12 8 12 8
. 2EBERITL-2 2EBEEBRERE
13 % 13 |8 13 K or 13 & 13 A 13 A
2B FIRITL-3 EESCEEET 0] W TALEREGAS
14 & 14| A 140K e 700 14 14 K 14 K
MIERE " 2EBFIRITL-4 FEICEEN 10 125 FIOENREETRES
BE Gnrrxzy—4) 15| & 5 K gk HE 15| % 15 %
FIIFRE HE - BEAR BEX
OB GrzsvxFy—9) 16] % 1 ® ik 168 16| * 6 *
E AT == - T
17 8 EIOEY - 10) 17| % 17+ 17) % 17 & SFEFOEMBEERESR 17 & 1- 2 BRRBOD
NPRELEE o o |[TRERRE e . LI |FEREEEEAZ BRE [ 51
RN 16) REHARQ
1K prEngers (s =2 19 A 19 % | = )
=: — &, o — == =
20 & EICE0) 20 B 200 % 20 & A AR 20| A FEEE (TA LR MKR—)L) 20 B i%?ﬁjﬁtﬁgﬁ@
2 & 21| A 21, 5 ERTEHED 21 + 21| % 21 sk E50A
CEETPIO) " 2R ERER BER 1256 F 2R BEMRAERER
2+ 22| & 2 X e BAEQ 2 C) 22 k 22 K g ks
P =3
23 B 23|k BFEHOE 23 & 23/ B 23 x| FEHER 23 kK
24 g | TEEBHO 24| % 24 + 24| % 24 & 2 o BASR
25 g THERQ 25| & 25 A 25 %k 25 + 25 +
RKEXE REHAXQ SFEHRABO
26 K S o2 —t 26 + 2 B 26 % 26| B 2 B
" 3FEHRABKO
27 K 27| B _ 27 K 27| & e 271 B 27 B
28 & 28| g |BARBBRO 28 %k 28 + 28| sk 28 %k
XE MEESL
20 + 29| & 200\ bO— LB 29 % 20 B8 _ 20] %k
08 30/ 5k HRABROQ 0 & EAM 30 8 SFEHRABKO 30 %
o 5 o o MNE s




